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General Instructions to the Examinees :

1. Tenel Ty 91 U3 93 W Ak sifqardd: faw |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. Tt gy A €

All the questions are compulsory.

3. YIS T H SN & TE IW-Yfew H & fag |

Write the answer to each question in the given answer-book only.

4. 99 99 & T 9 1fus 90 ofF 9t 9T ¥, 39 9l 9Fl @ g T | 9aq
fod |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

5. U HHI% 239 24 H H fakeu § |
There are internal options in Q. Nos. 23 & 24.

6. WUH HH® 1% IR 9N (i, ii, ili 997 iv )& | TIH 9 & =R faheq 21, &, |
ik T ¥ | W fosweq w1 AR IW-fe H Far arfere aame fad
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There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
JSour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9 SRR e ST hT TSN
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)

1. (i) ToILuig 99eE §

(1) el (9) @is 9

(|) e (%) ¥ |

Renewable resource is

(A) Coal (B) Petroleum

(C) Iron (D) Soil. =
(i) T % ST 9N I 9l ©

(31) e () =reft fgh

() &R () e |

Soil in river deltas is

(A) Alluvial (B) Black soil

(C) Alkaline (D) Laterite. =

(ii) TTSTEAM T TXA] G feorg

() WU H (9) Hepdrel |
(¥) TE@Er ¥ (3) TRRH |
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Atomic plant of Rajasthan is located at

(A) Narora (B) Kankarpara

N —

(C) Rawat Bhata (D) Tarapur.

(iv) fova & =g 1 a9 o1 ScaIesh Ud SYHTET <% §
(1) = (9) 9a
(9)  ieta (2) wifers™ |
Largest tea producer and consumer country in the world is
(A) China (B) India

(C) SriLanka (D) Pakistan.

N —

2. YR H I o IEH H BE-91 T Y@ T ?

N —

Which is the primary woollen producing state in India ?

3. Txgo o 3o I YU W fafaw |

N —

Write full form of W.T.O.

4., HEEGH 3T 1 A9 fafay |

Write the meaning of business organisation.

N —

5. HYH &7 ford #wd € ?

What is Joint Sector ?

N —

6. TEURE A ok HIE F ISR ST |

Give any two examples of multinational companies.

N —
N —

7. foon v= & aafusr & @ smur fafaw |

Mention two bases of the jurisdiction of district forum. % +

N —
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8. o Ushfea o #ed € ?
Who is called petty cashier ? 1
9.  IUHIE MU0 &k g & HRY faf@y |

Write any two causes of consumer exploitation. % + % =1
10. W@l o & TR0l Sl A GRI I hifeg |
Show the major classification of accounts by charts. 1

11. T Scdreq & fou eqmeasaes i o= difaess <ot fafaw |

Write any three necessary geographical conditions for sugarcane

production. % +% +% - 1%
12. A& & hlE A1 STAN fafEay |
. 1 1 1 1
Write any three uses of copper. gty t3 =1 5
13. 9Rd TR R &F 9= o HHeh oY IRAR 8q SIfd 9k Yokl o hig oA fog

fafEm |

Write any three points announced as motivating package by

Government of India for standard small family of two children.

LU S B
7tz fz =13
14, TSEAM ¥ ofifYfe FeH & w13 i seed fafau |
Write any three objectives of economic planning in Rajasthan.
11 .11
7tz fz3 =13

15. TR STEYRUT 1 § 7 TH STHYRUN i Taeiel oM gq HI & o Sifag |
What is the concept of Swadeshi ? Give any two suggestions to make

. . 1 1 1
Swadeshi concept dynamic. 5 + < 2 x 5) =1 5
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16. 3Afd & YR R HHEH 1 il 91¢ g1 Uefiid HifSw |

Show the classification of resources according to origin by charts.

1
13

17. a1 W& o s o 3UE fafan |

Write any three measures of soil conservation. % + % + % =1 %
18. YRd i SHEEN Fifd o S Il &l Socid hifST |

Mention two factors of population policy of India. % + % =1 %
19. 3fdfes s o1 sifvum s shifSe |

Explain the meaning of economic planning. 1 %
20. TIEI-3¥G SEM ST TAYAT YA: FHod AIA ScACH &7 o [The hi ot © |

F ?

Why is Iron and Steel industry mainly located near the area producing

raw materials ? 1 5
21. TF YU TN 1 o FeAfafeaa sl & sTEr Sifv :

() TIM9T

(@) TMeA

(1) SAAHHR

(%) e |

Describe the State Consumer Commission according to the following

heads : 1+1+1+1=4

(a) Establishment

(b) Organisation

(c) Jurisdiction

(d) Appeal.
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22, TrAfafea =Rl # T Je" & sHa ¥ fafea .

2009 %o
feamr, 2 A Tehe, TR 40,000
feger, 7 <l JIeH | A1d el 15,000
femmr, 12 Gfed &l w1 a= 5,000
feomr, 18 LEIGIEETCE| 25,000
feamr, 20 T<gl Ied i AIa aler 500
feamr, 25 gfed 3 A der 1,000

Enter the following transactions in the Journal of Gupta Brothers :

1+<6x%> =4

2009 Rs.
December, 2 Purchased goods for cash | 40,000
December, 7 Purchased goods from| 15,000

Mundra Brothers

December, 12 Sold goods to Sachin 5,000

December, 18 Sold goods for cash 25,000

December, 20 Returned goods to Mundra| 500

Brothers

December, 25 Returned goods by Sachin [ 1,000
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23. 9RA # USRI o ¥R SR T SUSTRT Fi 01 o GHEE 8q o) gemal
%l T HIFT |

SRE]

IRd ¥ o3 9fg & IR &R T& Jod gfg o 0 8 9r Ul &l W
SIS |

Explain any four causes of unemployment in India and four measures

to solve the problem of unemployment. < 4 x %) + ( 4 x %) =4

OR

Explain any four causes of price rise in India and four suggestions to
control it. <4x%> +<4x%> =4
24. TSh1F SUHHA o TR A T ARSI hl BT |
3Tar
HehRl HeHl & AR | U6 &R BI41 sl oasy |
State_four merits and four demerits of public enterprises.

(ax2) +(axs) =4

OR

State_four merits and _four demerits of Co-operative organisations.

(4x2) +(axd) s

S—08-2—Soc. Sc. II [ Turn over

Downloaded From: http://www.cbseportal.com



